
Online Chapter 3, Appendix G: Regression Results of Model with Interactions for Social 

Security Reform 

 

Dependent variable: For the following pair statements, select the one that most closely 

aligns (agrees) with your personal opinion. Making some changes to Social Security 

will ensure retirement for everyone (coded 0). Overhaul of our Social Security program 

is needed (coded 1). 

 Coefficient Standard Error 

Millennial 0.345 (0.298) 

Latino -0.054 (0.270) 

Latino*Millennial -0.245 (0.355) 

African American 0.479 (0.290) 

African American*Millennial -0.480 (0.405) 

Foreign born 0.146 (0.361) 

Foreign born*Millennial 0.009 (0.487) 

Liberal ideology -0.305 (0.228) 

Liberal ideology*Millennial 0.715* (0.307) 

Unemployed -0.252 (0.197) 

Unemployed*Millennial 0.043 (0.284) 

Negative economic outlook 0.386 (0.208) 

Negative economic outlook*Millennial -0.428 (0.285) 

Positive government worldview -0.314** (0.100) 

Positive government worldview*Millennial -0.091 (0.149) 

Education 0.010 (0.055) 

Income 0.114* (0.056) 

Female -0.088 (0.150) 

Married -0.278 (0.152) 

Constant cut1 1.008** (0.357) 

N 1,032  

F-value 2.81  

Prob > F 0.0001  

Notes: Logit regression estimated. Coefficients reported with standard errors in 

parentheses. Statistical significance denoted as: ** p<0.01 and * p<0.05. 

 

 


